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There are several types of linking words:

1) Coordinating conjunction

9) Subordinating conjunction

3) Transitions

1) The Coordinating Conjunctions:

First, we will talk about independent clause: it’s a group of
words containing at least a subject and a verb that can stanid

alone as a sentence.
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Fxample: 7 was raming heavily. (Independent clause)
Example: W hen it started raining (Dependent clause)
The second Example can’t stand as a sentence because

the meaning 1s incomplete.

Now, the coordinating conjunction is used to combine
wvo independent clauses and the resulting sentence 1s called
4 Compound Sentence.

The Coordinating  conjunction  would  therefore  be
preceded by a comma.

The Coordinating conjunctions are: for, and, nor, but, or,
yet, so (FAN BOYS).

PS: if the coordimating conjunction is not_ followed by ann

mdepcndent clanse, no comma lollows and the sentence 1S
considered a simple sctence:
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Example: She rushed 1o the anport but couldn’t get there
m e (o cateh her Hight.

dlaxy iy ¥ the Coordiating conjunction  leaic : daadass
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2) Subordinating conjunction:

These are conjunctions that precede dependent clauses
and Tink them with independent clauses to form Complex
Sentences.

The clauses  determine what type ol subordinating
conjunclion (o use.
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There are two types of dependent clauses:

A) Adverbial Clauses

B) Adjective Clauses

A)Adverbial Clauses:

An adverbial clause 1s a dependent clause preceded by a
subordinate conjunction and functions as an adverb.
Adverbs typically answer the questions: When, Where, or
Why in a sentence. ‘

Ioxample: When [ arrived at the railway station, the train
had already lell.
subordinate  J! guad dlitwe ¢ dlax GaAdverbial Clause
¢ ol : Aliull odal wilga a Sale gyl iyl Jac Jasi gconjunclion

Clalal gl € wia

B)Relative (Adjective) Clauses: .
An adjective is used to modily a noun by supplving details
about it.
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Example: 1 need 1o buy iy fitend a present that Is njce
~Xall ) ' i

and reasonable 1 price.

The dependent clause here , - |
modifies ‘present’, by the pronoun that’; we call 1t a relatiye

pronour. =
3) Transition:

Transitions are linking words that serve (o conneet

independent sentences. Translaion can appear at the
beginning of a sentence, the middle, or the end. Wherever
they appear, they are set off from the rest of the sentence by

commas.
- ElEwall Leall Gus Jdauyi dayy olelS oa (Transiions ) odbgaill
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Punctuation problems:
1) Fragments:

A [ragment 1s a phrase or part of a sentence which is
mcomplete and can’t stand alone. It has to contain at least a
Subject and a Verb. Students sometimes make mistakes by

putng a period at the end of the fragment considering it a
sentence.

Fragment

) s s i 3 ¥g &
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el Elaa lail lag)iie, fragment I 3l b dladil

° / - 1
A phrase witho

s ut ¢ :
work ' verb without a tense: Ex. He gone to -
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e A phrase without a subject: Fx. Went to college
vesterday
* A noun phrase without a verb: 1x. A long- haul flight

The way to avoid these problems in punctuation could be
either of the following ways:

° Do not use a dependent clause alone. Attach it to an
mdependent clause: Ex. Because 1 am overworked, I can’t
go out for a picnic.

e Change the verh form to include a tense: Ex. He has
gone to work

o Add a subject: Ex. I went to college vesterday.

o Add a verb and decide 1f the noun phrase subject needs
an object: Ex. A long-haul (light makes me sick.

2) Run-on Sentence:

A run-on sentence occurs when two mdependent clauses
follow each other without punctuation. Run-ons could be
separated and punctuated probably.

Lasiazy 1A (uilfLus (uilea il Leaic SuaiRun-on Sentence
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3) Comma Splice:

A comma splice 1s used between two independent clauses.
In order to correct this kind of mistakes, we do the
following:

o Use a full stop rather than the comma.
¢ Use a semicolon instcad of the comma.

* Join the independent clauses by a coordinating
conjunction.

l ?/:‘7’f:ﬂ'-'lar,u5 5 3 A é¢
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e Usec a subordinate conjunction to turn onc ol the
clauses into a dependent onc, and usc proper punctuation.

Exercises:
1) Combine the following pairs of sentences with an
appropriate coordinating conjunction.
Make sure to use a comma between the sentences
I was overloaded with work. I didn’t go to the party.
scAnswer: [ mas overloaded with work; and/so I didn’t go
(o the party.

® % %
25

- You can watch a movie at night. You can listen to music

at night.
= Answer: You can watch a movie at night, and/or you

can listen to music at might.

* %%
&5

My brother loves to celebrate when he passes his
exams. He 1s far too busy to celebrate this vear.
25 Answer: my brother loves to celebrate when he passes
his examns, but he 1s far too busy to celebrate this year.

% % %
2z

- The roses in the garden are dving. Thev are not getting
enough water.

#Answer: the roses m the garden are dying, for they are
not getting cnough water.

My photograph is not particularly good. It is not too
bad to use for the passport.

Answer: my photograph is not particularly good, yet/nor
1t 15 not too badl (o usc lor the passport,

_ * k%
&5
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2) Combine the following pairs of sentences by making
one an' adverbial clause. Vary the position of the adverbial
clause and use a comma when necessary.

- The 17" of April is Svria’s Dav of independence. We
do not have to go to work.

Answer: Since the 17" of A pril 1s Synia’s Day of
mdependence, we do not have to go to work.

* k%
25

- Fireworks are always used for celebration on New
Year's Eve. I do not like them.

~ . . f .
Answer: fireworks are always used to celebration on New
Year’s Eve. However, I do not like them.

* Kk %
&5

- Therc will be too many pecople in the world. People
keep having babies.

Answer: there will be too many people in the world
because people keep having babies.

* k%

- I was on the phone. My friend came for a visit.

Answer: [ was on the phone when my fiiend came for 4
VIsiL.

* k%

3) Combine the following pairs of sentences by making
one of them adjective clause. Make sure to place it

immediately after the noun it modifies and use commas if
needed.

- T went to wisit_an old [riend of mine. M
hospital.

Iv friend is in

E_Ianwar.us 7 ¥ A\ {0
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Answer: / wont (o visit an old friend of nune who Is in

}'I ‘.‘l"'ﬂ
‘el ‘\\‘\ ‘-'tl.i‘/.

* %%

- We all went to the airport Lo receive my brother. He

has been studving abroad for four vears.
Answer: e all went to the airport to recerve my brother,
who has been studving abroad for four years.

x % %

- Mv mother is fond of classical music. My mother is
aoINg to concert tOMOITOW evening.

Answer: my mother is fond of classical music; she 1s going
to concert of which tomorrow cvening.

% % %

=

_ We all celebrated Jane’s birthdav in a restaurant. It was
the only place we could all meet freelv.

Answer: ne all celebrated Jane’s birthday m a restaurant,
which was the only place we could all meet freely-

4) Connect the following pairs of sentences by using a
suitable transitional word. Use appropriate punctuation
marks,

- Eevpt has manv kinds of attraction for tourists. There
are the. Pyramids. the Sphinx, the Roval Cemeterv. and

manv other historical sites.

Answer: Lgvpt has many kinds of ‘attraction for tourists.
for there are the Psramids, the Sphiny, the Roval Cemetery,
and many other historical sites.

* % %

- He had drunk too much last night. He woke up this
mornung with a hangover.

EL&!mwar.us 8 ) A é ¢
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| A;;Iswer: he  had  drunk  too much  last night;
so/therefore/thus/as a result, hewoke up witlf & hangover.

* k%

¥ ( _‘S dry in Syiia in the summer. It 1s wel in the summer
m India.

ANSWeT: 11 15 dry i1 Syria in the summer. However/ on the
other hand, it is wet in the sununecr i India.

* & %

- If vou want to have a good holiday, vou could go away

with frnends. You need to come back home by the end of
the next week.

Answer: 1f vou want to have a good holiday, you could go
away with friends. However, you need to come back home
by the end of next week.

1) The Paragraph :

A)Topic Sentence

B)Body (major support) (minor support)
C) Conclusion sentence.

2) The Essay :

A)Introduction (THESIS STATEMENT)

B)Body (MULTIPLE PARAGRAPHS):

- 'Topic Sentence:

-~ Supporting Sentences (Major & Minor sentences)
- Conclusion sentence:

C)Conclusion -
( paragraph) 8,uas pagai dac yle goiss JEall : dala &asda a5
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A)The Thesis Statement (ea)

s one mamn opic 1o diseuss ;_1'1_'1(]@‘,\:&[9‘)"
This is expressed imn :x‘vnlvnn“ f‘il"t‘fl .l‘hc“‘ T'lll'cs'xs »Smm, ity
The thests statement m lln*Yl'.hhx\\ Ih,.ﬁl!}],l .I.l l(‘) the lopie .
cenence in the Pavagraph. Usually, thesis stalement appears

The essay

last  the mtroduction.
alas Qulﬂal.‘x.:\.).u.}hﬂlgrumunu U‘“ﬂ'.") Jalg 69‘09"\:‘[‘\!9&7 Jlaali
A " e -~ . , . ‘
“ I'hesis Statement , e
2oopie sentenced aaalie Jiall \_,bThc Thesis Statement
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= The Thesis Statement b salalty paragraph)) yuazn o
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- . doazall Lilaj
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"The Thesis Statement has two main parts:

* The Topic: which is the subject of the ESSAY.

"The Conuolling Idea: which is the writer’s attitude or
opmion about the topic

Example: ey Iiving is hazardous to a person’s health.

Ciy Iiving: The Topic Sentence,

Is hazardous to a person’s health: The Controlling idea.

- -ctor kl lIlllllllllll.llllllIl.llllIlll.lll....lll.l...

The predictor is the part whnch (ells (he

reader how many
body paragraphs the essay includes

and their main topics.
paragraph) Jead ah of (o )lall HA Sl cyall sa(predictor ) idal!
Smalll agaill 0da (yuglic g Jlaall VAN $933 bgu
FCity living g hav;
and physical health,
City Tivigge: The

EXAMPLE,

. wdous 1o a pe SON's ntal
€motional, T
Fopic Sentence,

1S llil/ill'(l')ll.‘s (0
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Mental, emotional and physical health: Predictor.
- The predictor helps the reader predict the structure and
content of the ESSAY they are about to read.
g Gl JlEall ging g JSuay gaiill e (ytall acl The predictor

ol i
R T T TT
"Rules for the Thesis Statement:
Ivery good Thesis Statement should follow certain rules:
1) A thesis statement should be expressed in a complete
Sentence.

2) A thesis statement should be a Statement and not a
question.

) A thesis statement should not simply announce the
topic of the ESSAY; it should state the Controlling idea,
namely give an opinion or attitude.,

1A thesis statement should not express a fact; it should
express an opinion or attitude.

5 A thesis statement should have one controlling idea, if
there 1s more than one, the essay could lack unity and
coherence.

rdiane acled quii O wsa aua ( thesis statement) Js #¢

- ALl dlaa (e et Ol caaa ( 1

- Hgus Gualg Az 995 Gl caaa ( 2

Jl o gpal O o o Agauy JIEal gginga o pel ¥ ol waa (3
~iBga gl gl lass O s Al Gisas - Controlling idea

- 8390 gl gl) O )25 O s CARE e i Y Gl (4

O S) dlllia oIS 131« Sasly Controlling idea (le g9a3 of waay (5
- 8angll yI85 Ol )<ay dllaall Controlling idea

That is it for today; thank you everyone.

Never give up
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